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SECTION - A

0 0 O

i) General Awareness

When was National Consumers Day

observed every year ?
(A) December, 24"
(B) November, 3"
(C) September, 22nd

(D) None of the above

Druzhba Il a military exercise held
between which of the following

countries ?

(A) India and Russia

(B) Russia and USA

(C) ' Russia and Pakistan

(D) None of the above

Montreal protocol is the multilateral
environmental agreement that regulates

which of the following ?

(A) Substances that causes the green

house effect

(B) Substances that causes the acid
rain

(C) Substances that deplete the ozone
layer

(D) None of the above

4. “Vajra Prahar” a joint military exercise

between which of the following countries ?
(A) India and USA

(B) India and UK _

(C) India and Japan

(D) None of the above

Where does the headquarter of the

Shanghai Cooperation is located ?
(A) Shanghai, China

(B) Beijing, China

(C) New Delhi, India

(D) None of the above

Which type of climate prevails in India ?
(A) Tropical monsoon type

(B) Mediterranean type

(C) Subtropical Humid type

(D) None of the above

Every year “World Wetland Day” is
celebrated on

(A) 2" February

(B) 2™ March

(C) 22nd April

(D) None of the above
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8.

10.

Which of the following rivers are east

flowing rivers of peninsular India ?
(A) Godavari and Mahanadi

(B) Narmada and Tapi

(C) Netravathi and Sharavathi

(D) None of the above

What is the main aim of the Kayakalp

awards of Government of India ?

(A) Promote cleanliness, hygiene and
infection control practices in public
health facilities

(B) Promote women participation in
economic activities in the country

(C) To provide electrification to rural
remote area

(D) None of the above

What is the maximum strength of the
Loksabha, which is envisaged in the

Indian Constitution ?
(A) 545
(B) 543
(C) 552

(D) None of the above

11.

12.

13.

National song Vande Mataram was

composed by

(A) Rabindranath Tagore

(B) Bankimchandra Chatterji

(C) Muhammad Igbal

(D) None of the above

Where does the river “Indus” originates ?
(A) Amarakantak, Madhya Pradesh
(B) Talakaveri, Kodagu, Karnataka

(C) Mansarovar, Tibet

(D) None of the above

What is theme of UNO (United Nations
Organization) for the year 2019 ?

(A) Intemational year of pulses

(B) Intemational year of millets

(C) International year of indigenous

languages

(D) None of the above
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14.

15.

16,

17

Who presides over the Chairman of the
Interstate Council ?

(A) Prime Minister

(B) President

(C) Loksabha Speaker
(D) None of the above

The playing time of the full version of
the National Anthem is approximately

(A) 52 seconds
(B) 50 seconds
(C) 48 seconds

(D) 20 seconds

What is the acronym “PAN” stands
for, which is a 10 digit alpha-numeric
number allotted by the IT Department
to tax payers ?

(A) Permanent Account Number

(B) Permanent Accessible Number
(C) Premium Account Number

(D) None of the above

Pradhan Mantri Jan-Aushadhi Yojana
is a flagship programme of Central
Government, comes under

(A) Ministry of Health and Family
Welfare

(B) Ministry of Finance
(C) Ministry of Chemicals and Fertilizers

(D) None of the above

18.

19.

20.

How many members to be nominated
by the President for Rajyasabha, which

is envisaged in the Indian Constitution ?
(A) 10 members

(B) 12 members

(C) 15 members

(D) None of the above

The most of the part of India receives

rain fall from

(A) North-east monsoon
(B) South-west monsoon
(C) North-west monsoon

(D) None of the above

“World Economic Outlook” report
released by

(A) WTO

(B) IMF

(C) FAO

(D) None of the above
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ii) General Intelligence and Reasoning Ability

21. Find odd number out 1, 5, 14, 30, 51,

55, 91.
(A) 30 (B) 55
(C) 51 (D) 91
For questions 22 and 23 refer to the data below :

B B
A@B-A+ > A#B-A:C B
" AB Y

A&B:-E—B, AAB:A—E+B
A A

22. (AAB)+(A#B)=

(A) 2/(A#B) m)A&%@B
(C) 2A (D) A#B

23. It A=3, B=6, then A@B, A#B,
A&B are
(A) multiples of 3
(B) negative values
(C)
(D)

24. If PALAM could be given the code 43.
What code number can be given to

positive values
real values

SANTACRUZ ?
(A) 123 (B) 85
(C) 120 (D) 125

25. 6 children A, B, C, D, E and F are
standing in a row. B is between F and
D. E is between A and C, A does not
stand next to right F or D. C does not
stand next to D. F is between which of
the following pairs of children ?
(A) B&E (B) B&C
(C) B&D (D) B&A

26.

27.

28.

29.

30.

In a family ‘R’ is married to ‘M’. ‘M’ is
a brother of ‘K’ who is ‘Z’s mother. ‘R’
has 3 children, 1 son and 2 daughter
with one daughter married. ‘B’ is the
sister-in-law to ‘D’. ‘A’ is brother of ‘C’.
How is ‘A’ related to ‘2’ ?

(A) cousin brother (B) cousin sister

(C) aunty (D) uncle

The sum of the digits in a three digit
number is 12. If the digits are reversed
the number is increased by 495 but
reversing only of the ten’s and unit
digits increases the number by 36. The
number is

(A) 327
(&) 237

(B) 372
(D) 273

Here are some words translated from
an artificial language.

daftafoni means advisement

imodafta means misadvise

imolokti means misconduct

Which word could mean ‘statement’ ?
(A) kratafoni (B) kratadafta

(C) loktifoni (D) daftaimo

A is B’s brother. C is A’s mother. D is
C’s father. Fis A’s son. How is F related
toD?

(A) Son

(B) Grandson

(C) Grand-grandson

(D) Grand-daughter

Find the missing number.

1,2,6,7, 21, 22, 66, ?, 201
(A) 69 (B) 68
(C) 67 (D) 79
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ii) TR RGN qAT ATfches TrEAT

e = sifen) 1, 5, 14, 30, 51, 55, 91
(A) 30 (B) 55
(C) 51 (D) 91

e 22 37K 23 &g Fmferfaa stiwst &1 wam o |

B B

A@B:A+——,A#B:A+K—B

AB
AB B

A&B=—-B, AAB=A——+B
A A

22.

23.

24.

25.

(AAB) + (A#B) =
(A) 2/(A#B)  (B) A&%@B
(C) 2A (D) A#B

afe A =3, B=61d A@B, A#B,
A&B%

(A) 3% TUN

(B) SRS HH

(C) HTHS® HH

(D) Irfas o=

Ife PALAM %152 432, 91 SANTACRUZ
&1 e B

(A) 128 (B) 85

(C) 120 (D) 125

69=d A, B, C, D, E 3T F U iffa H @2
2IBFIMDFATHE |E, A C
F =2, A FIDF qid N T T |
C,DH M A wel Firsdfa iR 7
(A) B3RE (B) B3R C
(C) B3MWD (D) B3MA

26.

27

28.

29

30.

UF TRER | ‘R foae ‘M A B3R |
‘M K HTHE RS 'Z R AR | ‘R & dH
T 8, 1 3R 2 afewi S @ 1 9
R 1'B, DR TR | ‘A, 'C I
TER | ‘A H'Z U FATHEY R 2

(A) THT 9T (B) Tl wRA

(C) ¥t (D) ™I

U dH ST O F S AN 128 |3k
IR SIec] fRATSITE ATHET 495 TG STt
2 | WA T 37K |6 &F S I T
T 38 U ¥Ed 36 I aeri 2k e | o8 SR

(A) 327 (B) 372

(C) 237 (D) 273

TS 1 AT H FS 7168 IS ek ford
M E |

daftafoni =T 372 8 advisement
imodafta &1 37¢f 8 misadvise

imolokti T 31  misconduct

fora wrse =1 319 ‘statement’ ST TEATR 2
(A) kratafoni (B) kratadafta

(C) loktifoni (D) daftaimo

A BFIHER | C, ARIHETR | D, C% fian
RFAFTTR IFHRIDAFTR ?
(A) A

(B) T

(C) T

(D) it

W HEAT e |

1,2,6,7,21,22,66, 2, 201

(A) 69 (B) 68

(C) 67 (D) 79
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31.

32.

A walks Southwards then turns right
again and then left and again left. In
which direction is he from the starting
point ?

(A) South West (B) South East
(C) North West (D) North East

BANK : CBOL : : GROVE :
(A) SPOMP (B) HSPWF
(C) EVORG (D) PSWFH

Direction for the Q. No. 33 and 34.

5 people A, B, C, D and E have 5 different
brands of colour TV’s Mi, BPL, Samsung, LG
and Koriyo and play 5 instruments Flute, Piano,
Drums, Guitar, Trumpet. Following conditions
are to be followed.

1.

ob W

33.

34.

35.

B does not have Mi or Samsung and plays
Piano.

A has BPL and plays Drums.
D has either Koriyo or LG.
The one who plays Trumpet has LG.

C has either Samsung or Koriyo and E
plays either Piano or Flute.

Who has Koriyo ?
(A) A
(C) C

D plays and owns

(A) Trumpet and LG
(B) Piano and LG

(C) Trumpet and Koriyo
(D) Data inadequate

(B) B
(D) D

PETAL : FLOWER : :
(A) SALT : PEPPER
(B) TIRE : BICYCLE
(C) BASE : BALL

(D) SANDALS : SHOES

36.

37.

38.

39.

40.

All the tulips in Zoe's garden are white.

All the pansies in Zoe's garden are
yellow.

All the flowers in Zoe'’s garden are either
white or yellow.

If the first two statements are true; the third
statement is

(A) true

(C) uncertain

(B) false
(D) allA, B, C

If RAMAN is written as 12325 and
DINESH as 675489, how HAMAM is
written ?

(A) 92323
(C) 93233

(B) 92233
(D) 93292

Fact 1 : All drink mixes are beverages.
Fact 2 : All beverages are drinkable.
Fact 3 : Some beverages are red.
Which of the following statements must
also be a fact ?

I. Some drink mixes are red.

Il. All beverages are drink mixes.
ll.  All red drink mixes are drinkable.
(A) lonly (B) 1l only
(C) landlll (D) none

A firm produces 50 units of a product
for ¥ 320 and 80 units for ¥ 380.
Considering the cost curve to be a
straight line the cost of producing 110
units to be estimated as

(A) 400 (B) 420
(C) 440 (D) none
1,9, 25, 49, 81, 121, 2

(A) 225 (B) 289

(C) 169 (D) 144
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fig @ o fpa femd 2 7
(A) cfrafem  (B) SR
(C) SMuffem (D) ST
32. BANK:CBOL:: GROVE:
(A) SPOMP (B) HSPWF
(C) EVORG (D) PSWFH
WY T 33 AN 34 & forw fAew

5 safaat A, B, C, D 3 E & TH 5 317 §TE &
i At Mi, BPL, 8987, LG R FHIRETE 3 5
JrREE S, TR, gm, fren ot g sem 21
=i syt e 2 |
1. BHIE Mi 1 80E 721 2 3% framrssmans |
2. AHTH BPL § 3 S awmae |
3. DHFTH A ARRAALGE |
4. |WAFE T2 ITFTELG 2 |
5. C o U IT T ATHRATE 3T E A1 o
TG SR |
33. s T IR 7
(A A (B) B
(C) C (D) D
3. D_ S WIS MIEHEIE__ 2|
(A) TEI MW LG
(B) i 3t LG
(C) T AR =TT
(D) 3Tehg AT

35. ﬁtg%ﬁ:vgft::
(A) 1 : T
(B) 2R : OEfFa
(C) SR : 7%

(D) ¥ea: 4
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38.
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3 B o g |
S o7 ® At SEe Ot © |
S 9 8wl Bt A A v A HA R |

Ife gt 31 Fud g B 1 e weE @
(A) (B) IAqF
(C) Hffeea (D) |1 A B, C

If2 RAMAN 1 12325 foraa 37 DINESH
F1 675489, AT HAMAM &1 F:d for@ 2
(A) 92323 (B) 92233
(C) 93233 (D) 93292

qe 1 oty e aa

e 2 aeft T iR A E |

T3 FS U AAR |

fFrefafaa § & -8 FA qea g 7
| % T e f |

1. asfi o fgord |

. Tt e T o fim v @ |

(A) FF4 | (B) Fad Il

(C) 131 (D) @I &

UF BH 3G 1 50 IHERAT T 320 3N
80 ZHTEAT T 380 T IeTfed Fl B | T
T 1 HGTHHA §C 110 FHIAT o ST
&1 IHA
(A) 400
(C) 440

(B) 420
(D) =% &

1,9, 25, 49, 81, 121, ?
(A) 225 (B) 289
(C) 169 (D) 144
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41.

42.

43.

44.

45.
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iii) Arithmetical and Numerical Ability

The present ages of two brothers is in
the ratio 3 : 4. If 4 years ago their ages
were in the ratio 2 : 3, their present ages
are

(A) 30and40
(C) 12and 16

(B) 15and 20
(D) none of these

Sin2A = 2SinA is true when A =
(A) 0° (B) 30°
(C) 45° (D) 60°

The average age of 10 students is 6 years.
The sum of the ages of 9 of them is
52 years. The age of 10" student is
(B) 9yrs

(D) 8yrs

(A) 10yrs
(C) 7yrs

If 6x + 3y = 6xy, 2x + 4y = 5xy then
(x,y)=

(B) (2,1)

o (1)

(A (1.2
1

o (1)

If a fraction becomes 3 when 1 is
subtracted from the numerator and it

becomes % when 8 is added to its

denominator, then the fraction is

5 7
A 13 ®) 13
6 6
© © o

46.

47.

48.

49.

50.

If angles of a triangle are in A.P. with
the greatest being 84°, the other angles
in the triangle are
(A) 30° 66°
(C) 40°, 56°

(B) 36° 60°

(D) none of these
The cost price of an article which is sold
for Rs. 220 at a loss of 12%, is

(A) Rs. 280 (B) Rs. 250

(C) Rs. 200 (D) Rs. 225

After revaluation a student’s marks was

changed from 80 to 92, the percentage
increase in marks is

(A) 12% (B) 13%
(C) 15% (D) 18%
One card is drawn from a well shuffled

pack of 52 playing cards. The probability
that card will not be an ace is

12
(A) 13 ®) 13
1 3
©) 3 ()

The radii of two circles are 8 cm and 6 cm
respectively. The radius of the circle
having area equal to the sum of the
areas of two circles is

(A) 14cm (B) 2cm

(C) 12cm (D) 10cm
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iii) STETIOTEIT U WATeH FRaaT

FATH T T ARAT 1 TG T 3 3 : 4
? 1 3f% 499 o STt ST FT I 2 ¢ 3
ofT, T 3T FAHH Y 2

(A) 30340 (B) 15320
(C) 12316 (D) TH A FE &l
Sin2A = 2SINATT 2 9 A =

(A) 0° (B) 30°

(C) 45° (D) 60°

10 it g s 699 e | S A
9l 3Tg 5294 2 | 3Ha faemeff i g 2
(B) 9%
(D) 899

(A) 1099
(c) 739
Tfe 6x + 3y = Bxy, 2x + 4y = 5xy, A%, ) =

A (1,2) B) 1)

1 1
© [13] © 2
ﬁmi‘immﬁm@ﬁa%aﬂxaﬁe
SiTEd W %E‘rw%,a‘tﬁm%

5 7
(A 15 (B) 13

6 6
© (B) =

46.

47.

48.

49.

50.

7fe ok B & 11w Soft § € i
oA TSI A 84° 8 | PN W s @I E

(A) 30° 66°
(C) 40°, 56°

(B) 36° 60°

(D) T & F T
12 % %1 BT T %, 220 7 =<1 71 0h 9%
FHFI A ©
(A) %280
(C) % 200

(B) %. 250
(D) %. 225

e &% AT U foaneff % i@
80 | 92 T1TTY | 37T § fqwrd s 2

(A) 12% (B) 13%
(C) 15% (D) 18%
52 191 % U © Teh Il st ST 2l
T Wt foh 98 FTE 39T 81 g
12 '
(A) 13 (B) 13
1 3
©) O

g« B g 1.4, 3Tk 6 F.H). FwHw:
213 S I 5 SFABAT 6 AT ok TER

S 9Tl g <l B g
(A) 14 .1t (B) 2# ..
(C) 12¥.H. (D) 104 ..
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51.

52.

53.

54.

55.
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The value/s of k in the quadratic equation
2x2 + kx + 3 = 0iif the roots of the equation
are equal is/are

() /6

® V7
(D) 3\/6

A toy in the form of a cone of radius
3.5 cm is mounted on a hemisphere of
same radius. If the total height of the toy
is 15.5 cm then the total surface area of

the toy is
(A) 2145cm?  (B) 216 cm?
(C) 225cm? (D) 361cm?

If o and B are the roots of the equation
2x° — 10x + 5 = 0 then the value of

o
(A) 8

;
©€) 3

(B) 6
(D) -8
The quotient obtained when

x° — 3x2 + 5x — 3 is divided X2 - 2 is
(A) 7x-9 (B) x-3

(C) —x+3 (D) -7x+9

The two numbers whose sumis 27 and
product is 182 are
(A) 24,3

(C) 15,12

(B) 13, 14
(D) 11,16

56.

57.

58.

59.

60.

7

If cotd = - then cosec? 9 =

m 13
A 64 ®) 64

64 15
C) — D) —
e 113 (®) 64
If the 3@ and 9'" terms of an AP
(Arithmetic Progression) are 4 and — 8
respectively, then the term of AP which
IS zero is
(A) 4 (B) 5
(C) 6 (D) 3
The duration of time in which a sum of
money triples itself at 8% p.a. simple
interest is
(A) 12.5yrs (B) 13yrs
(C) 12 yrs (D) 25yrs
The least number when divided by 18,
24, 56 leaves no remainder is
(A) 405 (B) 504
(C) 360 (D) None of these
A can do a job in 6 hours, B can do the
same job in 8 hours. Then the number
of hours A and B take if they complete
the work together, is equal to

24

(A) 4hrs (B) 7hrs

24
(C) ?hrs (D) none of these
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51.

52.

53.

54.

95,
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faEra aieor 22 + kx + 3= 0W KFTHH
7 THieRT & W THE B

® V7
(D) 3\{6

(A) i\/g
©) *2V6

WE % AHR &1 0 fgarn et Brean
359. #. 7 3t & B & sEma W
@ R| At Raeth i 3K 15,59, .
2, a1 e &1 $a T &% ©

(A) 2145cm2  (B) 216.cm?

(C) 225cm? (D) 361 cm?

IfE o 3TN B T FHfiT 2x2 — 10x + 5 =0
md, @ o+ -

(D) -8

x3 — 3x2 + 5x — 3 Tl x2 — 2 ¥ fTawrfoa
F T AR 2

(A) 7x-9 (B) x-3

(C) —x+3 (D) -7x+9

3 ST o1 I 27 TR TPHT 1822
(A) 24,3 (B) 13,14

(C) 15,12 (D) 11,16

56.

87.

. 58.

59.

60.
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4
It cotd = — Al cosec? B =

8 113

A &2 B o

64 15
(C) 113 (D) o
e us R 2vft =51 fio SR 99T T 4
IR - 8 FHAI: B, I FHIGL 2vf T I IS
ST Y BT
(A) 4 (B) 5
C) 6 (D) 3

I8 gnY w8 % | sA &l e |/
LeRUNEEREARTUEEaRTH
(A) 12539 (B) 1399

(C) 1294 (D) 2599

IE BT W B T SEFT 18, 24, 56 °
1 feu 91 WS off 915 7 s=an

(A) 405 (B) 504

(D) T8 ¥ =1 AL
AT =14 1 6 521 | 37 B 36 1 &
8HIH FATR | T2 o wew i A 3R
B e 7 % [ aa 2

(A) 4hrs

(C) 360

24
(B) 7 hrs

(C) %hrs (D) T8 A HE &
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61.

62.

63.

64.

65.

66.

67.
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iv) Hindi Language and Comprehension
= ym sy

et s 1 991 91 | SH I § gEE
oo 2

(A) Tt (B) wgH
(C) I (D) =18 e
‘afqa’ v1ee ) SEIES 9312
(A) e (B) dfd
(C) ufden (D) I

ST H@, @ |3 e § e 2
(A) ST 3R A

(B) €@

(C) @

(D) =T &

‘T v1se T 37 @

(A) w1

(B) AW
(C) Te@aman
(D) ¥
ol + HT =
(A) <3
(C) <t

(B) @mEn
(D) =

BT 363 &I Fga=H ¢

(A) BT (B) MM

(C) B (D) & 72

URIR Bq AFTHdA [UHT 1T
FFE |

(A) FISH

(B) g

(C) 3URH

(D) Aferam

68. M W TmH w@maEETd)
(A) gfeem
(B) witferm
(C) TgEHcm
(D) it 3R gicer <M

69. e fofigu |
3. favafesrh &, FEEHM
1. Wi G, FHHIRT g
3. faafr 7. wEdife T
3. T q. 3egdiE

T
3. IAA-GAAT  F. qcqey G
T AT T T

A T ¥ T @ &
B T T ¥ @ &
€ F T T @ ¥
D)@ 9 & 7T T

70. ‘SAITCHEdS Tse FT 37 2

71

(A) TR it w foan fore speeen
(B) UIEUl &1 W&

(C) W & T A&

(D) AIEHTA § HEqH HTHITAT
3T + TG = 30 TR R A2 7
(A M

(B) T

(C) v

- (D) &



72

73.

74.

75.

76.

47

ERIER R S - &
(A) 99

@) =

(C) i

(D) g

GATT TR R G R 7

(A) TRy

(B) wEHfife
(C) FHuUT™

(D) F=TdvE

{18’ 38 YIsa 1 IFforT &9 forf |
(A) T (B) Tt

() = (D) tifet

SH U ST 318 9T 9768 T 31 T R 7
(A) 3fa

(B) HHI

(C) wHe

(D) /T

‘e Te FTavifa=ee ffau |

(A) 9+3+3+g+3A+9

(B) +3+1{+3+3+37+9

C) A+3+T+JH+Z+ Y+ A

m)q+3+{+3+q+q+a

77.

78.

79.

80.
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a+a+q+a+arnf+q+a+{+
F=

(A =

(B) =HER

(C) TET&ET

(D) T

Sirgert forfia -
HETeR 1k

. B HEH AT F. 6 RIEHT
1. facett 3 Q. g IgMAT

3. YT SAEHAT . ferafem s
U= T

3. ARTHEED T, TR HHE O

3. TR ST ©. U9E EER
FET

F 3 3 T S

A & ¥ @ T T

B T @ & T H

C @ T T & H

M T & ¥ @ T

G G 39 HETEt 1 1Y 2

(A) o= BHI

(B) T SIS BMT

(C) ST # 37T

(D) TH H&E T

TES AT TeId € | 9 aed Ele

TR |

(A) (B) *dq

(C) YEaT=H (D) =T
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81.

82.

v) English Language and Comprehension
SEISh v 3R Ay

Pick out the word that is nearly opposite in

meaning to the words in capitals.

DISTRESS
(A) safety
(B) travail
(C) agony
(D) torment

GALLANT
(A) bold
(B) stalwart
(C) coward
(D) stout

Fill in the blanks with appropriate preposition.

83.

84.

85.

-18-

The picture hangs
(A) on
(B) up
()
(D) at

my bed.

You should not go the football

ground.
(A) in
(B) into
(C) on
(D) to

He lives in the house ______the river.
(A) by
(B) on
(C) at
(D) of

Identify the odd word out.

86.

87.

(©)
(D)

()
(D)

(A)
B)

Pond
Tank
Lake
Book

(A)
(B)

Cube
Square
Foot

Prism

Identify the tense in the following sentences.

88.

89.

90.

| have been working here for ten year.
(A) present perfect

(B) present continuous

(C) present perfect continuous

(D) past continuous

In my youth | took exercise everyday.
(A) present tense

(B) past indefinite

(C) past perfect

(D) future tense

She has applied for leave.
(A) present continuous
(B) simple present

(C) present perfect

(D) simple past



Add suitable question tag.

91. She can swim well ?
(A) can she
(B) can't she
(C) does she
(D) don’t she

92. He works hard, ?
(A) is he
(B) does he
(C) doesn't he
(D) did he

93. They don't need anything, ?
(A) can they
(B) don’t they
(C) did they
(D) do they
Fill in the blanks with appropriate article if
necessary.
94. She has failed in English.
(A) a
(B) the
(C) an
(D) not needed
95. Heis best player in the
team.
(A) a
(B) an
(C) the
(D) not needed

-19-
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96. We need half pound of sugar.

(A)
B)
(C)
(D)

a -
an
the

not needed

Identify wrongly spelt word.

97.

98.

(A)

(B)
(©)
(D)

(A)

(B)
(©)

(D)

REVERIE
SPARKLE
RHYTHEM
FASCINATE

ARIAL
INDULGE
QUAINT
WHIMS

Fill in the blanks with suitable verb form.

99. They have been since morning.

100.

(A)
(B)
(C)
(D)

working
worked
works

work

Last Sunday we there.

(A)
B
(C)
(D)

play
have played
were playing

had played
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101.

102.

103.

104.

105.

106.

SECTION-B
Post Specific Subject — Related Questions

Which one of the following is an example
of welfare catering ?

(A) Restaurant
(B) Banguets
(C) School

(D) Room Service

Which one of the following is an example
of commercial non-residential catering
outlet ?

(A) Hotel

(C) Resort

(B) Coffee shop
(D) Motel

Which one of the following is an example
of a secondary catering sector ?

(A) Hotel

(B) E£thnic restaurant

(C)
(D)

Fast food outlet
Hospital

Dhabas are located at
(A) Beaches
(C) Hill stations

(B) Highways

(D) Airports
Which one of the following operates
round the clock ?

(A) Popular restaurant

(B) Coffee shop

(C) Discotheque

(D) Carvery

The time taken by the customer to leave
the fast food with the ordered food is
(A) 3% Minutes (B) 5 Minutes

(C) 7 Minutes (D) 10 Minutes

107.

108.

109.

110.

111.

112.

The concept of fast food was first
introduced in the

(A) USA (B) USSR
(C) UK (D) Japan
Silver service is implemented in a
(A) Fine dining restaurant

(B) Carvery

(C) Coftee shop

(D) Fast food outlet

The blend must have the minimum
percentage of brandy from Grand
Champagne to make Cognac of ‘Fine
Champagne’ is

(A) 40%

(B) 50%

(C) 60%

(D) 70%

All of the following areas come under

the Food and Beverage Department,
Except

(A) Kitchen

(B) Banguets

(C) Housekeeping
(D) Room Service

The person-in-charge for making all cold
dishes except sweets is chef

(A) Garde manger

(B) Entremettier

(C) Poissonier

(D) Potager

Entrees and their gamishes are made
by the chef
(A) Potager
(C) Rotisserie

(B) Saucier
(D) Poissonier
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ez vafaters faea - gash e

Feferfea # & -A AT @I
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(A) T2

(B) Seere

() e

(D) FHTHAT
frefafea § & SR-ar aiticas
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(A) Ered (B) il Wi

©) far (D) Hrew
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(A) Eres

(B) BT W&

(C) 2 FE A3

(D) ITETAT

TEi_ wieaEai |

(A) FgzfER (B) TR

(C) Rawyw (D) faum w==
Fafifaa T aRR A1 Yy TeFH FaTe 7
(A) THT T2

(B) il I119

(C) Te=rms

(D)

TR IS % AY RS TS F1 S |
TTeeh G T e om 8

(A) S%ﬁT-IE (B) 5fire

(C) 7T= (D) 10 e

107.

108.

109.

110.

111.

112.
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ngﬁ’rwmqﬂé

(A) LTET
(C) I&. (D) STIH

e widg H AR T AT R |
(A) 3= e T2

(B) ®&dl

(C) =it wrg

(D) FRE FE A3
T E 378 (F1EA) e o e

% fmin & fou fogor | S =1
_ yfdwagETaIRT | T

(A) 40%

(B) 50%

(C) 60%

(D) 70%

Trafarfaa ot & o= o U faam
IR, fEm %

(A) TR

(B) saae

(C) TT3THITT

(D) AT TET

T e & ol 38 vea™ a9 S I
fFgIE_ 2

(A) TS =R
(B) ugmfE
(C) TREfm
(D) TSR
AN TETH IR TG TH
BRI ST ST R |
(A) ISR

(C) ufestt

(B) I.UH.UH.W.

(B) TR
(D) IREFAT
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113.

114.

115

116.

17.

118.

119.

Chef patissier is responsible for
making

(A) Salads
(C) Pastas

(B) Soups

(D) Sweets
Sommelier is responsible for the service
of

(A) Potatoes
(C) Cheese

(B) Soups
(D) Wines

Trancheur is responsible for
(A) Pot washing

(B) Pest control

(C) Carving

(D) Soup service

French designation for station waiters is
(A) Chef de rang

(B) Commis de rang

(C) Maitreed’ hotel

(D) Commisdebarraseur

Kitchen stewarding is responsible for
(A) Wine service

(B) Garbage disposal

(C) Salad preparation

(D) Still room

Function Catering is organized by
(A) Banquets

(B) Room Service

(C) Kitchen stewarding

(D) Lounge staff

Scullery refers to

(A) Pot wash

(B) Pest control

(C) Kitchen cleaning
(D) Garbage disposal

120.

121.

122.

123.

124.

125.

126.

Slip cloth is used to

(A) Carry hot dishes

(B) Line tray

(C) Wipe equipment

(D) Cover soiled table cloth

The most elegant, strong and expensive
type of crockery is

(A) Bonechina (B) Stoneware
(C) Earthenware (D) Porcelain

Demitasse is used for service of coffee
during

(A) Breakfast (B) Brunch
(C) Lunch (D) High tea
Diameter of a full plate is

(A) 6 (B) 8

(C) 10" (D) 12"

Which one of the following glassware is
an example of a tumbler ?

(A) Rock glass

(B) Beer goblet

(C) Cocktail glass

(D) Brandy snifter

Which one of the following is an
example of stemware ?

(A) Champagne Saucer

(B) Brandy snifter

(C) Rock Glass

(D) Beer Goblet

Aboyeuris the French name for
(A) Barker

(B) Waiter

(C) Cook

(D) Pot wash man
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115

116.
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et e T T BT 2|
(A) T oreft & ST & forg

(B) &R ferg

(C) 3UsH01 TiH & foru
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Haifee weq, Aeeq 3R 7eft var
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(A) SMEEAT (B) WeeR " w1
C) W@ ash (D) wHEfeH
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% fore ygad eaT R |

(A) ARdr (B) =

(C) SITeL ST ARH (D) TE A

TS Tl TR H A 2

(A) 6" (B) 8"

(C) 10" (D) 12"
Feforfiad % 8 #19-8 %9 & 949 '
firea =1 3R 2 7

(A) T ™

(B) R iaeie

(C) Hided ™

(D) sTEl e

fefafaa # s F-mr e m s
IR ?

(A) 3= TTE

(B) T fiowex

(C) T ™

(D) e TMisee

TSR
(A) ST

(B) =

(C) wEEa

(D) ¥d9 91 I A faFa

T T T 2
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127.

128.

129.

130.

131.

132.

An aboyeur controls

(A) Hot plate (B) Still room
(C) Pantry (D) Silver room
‘Off board’ used in the kitchen
communicates

(A) Cooks who are on daily off

(B) Wait staff who are on daily off

(C) Items of the menu that are not
available

Equipment that is out of order

(D)
All kinds of alcoholic beverages are
collected from

(A) Dispense bar (B) Still room

(C) Hot plate (D) Restaurant
Which one of the following is a feature
of table d’hote menu ?

(A) Dishes are prepared and kept
ready

Each dish is priced separately
Waiting time is allowed for each
dish

Extensive choice is offered

(B)
(©)

(D)
Cyclic menu is followed in
(A) Fastfood

(B) Coffee shop

(C) Industrial catering
(D) Room service

Which one of the following types of
menu is planned based on budget
allocation ?

(A) Alacarte menu

(B) Cyclic menu

(C) Platdu jour

(D) Table d’hote menu for restaurants

133.

134.

135.

136.

137.

138.

139.

OO0 O OO0 OO 1

Which one of the following is not relevant
toalacarte ?

(A) Need more of kitchen equipment
(B) Need less service equipment

(C) More work during meal time

(D) More storage equipment required
Which one of the following is an example
of hors d'oeuvre ?

(A) Opysters

(B) Consommeé

(C) Minestrone

(D) Spaghetti bolognaise

Which one of the following is an example
of pasta ?
(A) Caviar
(C) Broccoli

(B) Ravioli

(D) Canapé

Which one of the following is an example
of releve course ?

(A) Roast leg of lamb

(B) Roast turkey

(C) lIrish stew

(D) Tournedos Rossini

An example of roast course
(A) Boiled Chicken

(B) Braised Duck

(C) Boiled Turkey

(D) Roast Pheasant

Stilton is a type of

(A) Vegetable (B) Fish

(C) Game (D) Cheese

A guest in Indian restaurant would look
for naan under the category of

(A) Indian bread (B) Paneer

(C) Dal (D) Vegetables



127.

128.

129.

130.

131.

132.
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140.

141.

142.

143.

144.

145.
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Which one of the following breakfast
is simple breakfast ?

(A) Continental breakfast

(B) English breakfast

(C) American breakfast

(D) Indian breaktfast

Café complet is the term used in the
service of

(A) American breakfast

(B) Indian breakfast

(C) Continental breakfast

(D) English breakfast

Which of the following group of items
is referred to a preserves ?

(A) Butter, Jam

(B) Jam, marmalade

(C) Jam, sugar

(D) Marmalade, butter

Which of the following types of breakfast
do not require cruet ?

(A) English (B) American

(C) Continental (D) Indian

Croissant is a type of breakfast
(A) Roll

(B) Cereal

(C) Egg preparation

(D) Meat preparation

The top copy of KOT goes to the
(A) Front office

(B) Kitchen

(C) Guest

(D) Cashier

146.

147.

148.

149.

150.

151.
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Which one of the following information
is not necessary on KOT ?

(A) Table no.

(B) Waiter no.

(C) Manager’s name

(D) Date

Which one of the following terms is used

while continuing the order in second
KOT ?

(A) Suivant
(C) No charge

(B) Retour

(D) En place
Non-alcoholic drinks may have alcohol
content less than
(A) 0.5% abv
(C) 1.5% abv

(B) 1% abv

(D) 2% abv

The person-in-charge of room service
in a hotel is called as

(A) Demi-chef de rang

(B) Chef d’'etage

(C) Chef de rang

(D) Station head waiter

Silverware can be polished using which
of the following systems ?

(A) Gueridon (B) Helitherm
(C) Ganymede (D) Polvit

The main use of a waiter’s cloth is for
(A) Wiping customer’s fingers after
eating snails

(B)

Protection against heat and to help
to keep uniform clean

(©)
(D)

Covering stains on the tablecloth
Wiping split food from the carpet
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1583.

154.

155.

If wine is split on the tablecloth, a waiter
should

(A) Clear the table of everything and
sponge the stain with milk

Cover the soiled area with a
clean table napkin by unrolling it
over the spillage

(B)

(C) Ask the customers to wait in the
lounge while he fetches a clean

cloth

Take the plates of food to the
sideboard and change the cloth

(D)

A gueridon is a
(A)
(B)
(C)
(D)

Moveable sideboard
Mobile service table/trolley
Cigar and liqgueur handcraft

Trolley for taking used crockery
and cutlery to the wash-up

The best way to deal with a customer who
complains about poor service is to

(A) Apologize

(B) Offer him a free drink
(C) Inform the head waiter
(D) Try to make excuses

Which of the following groups does not
contain a liqueur ?
(A) Compare, Cherry Brandy, Grande

Champagne, Goldwasser

Grappa, Schnaps, Bacardi,
Pernod

Drambuie, Glayva, Grand Mariner

(B)

(©)
(D)

Benedictine, Créme De Menthe,
Kahlua, Cointreau

156.

157.

158.

159.

R 0O 0 O

A humidor is a box in which
(A) A hydrorﬁeter for measuring density
of liquids is kept

(B) Allthe gratuities given by customers
are pooled

(C) Waiter's checks are placed whilst
waiting for the food

(D) Cigars are kept in perfect

condition

The abbreviation ‘B and B’ means

(A) A bartender’s beaker

(B) Benedictine liqueur and brandy

(C) A barbecue for spit- roasting
foods outdoors

(D) Babycham and Bacardi

Which well-known cocktail is made of
vodka and tomato juice ?

(A) Bloody Mary

(B) Harvey Wallbanger

(C) Manhattan

(D) White Lady

A table d’hote menu is a
(A) Meal comprised of main dish and

sweet

(B) Set menu, sold at an inclusive
price

(C) Listof all the available dishes each
individually priced

(D) Sequence of dishes in categories

from soup to sweet
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161.

162.

163.

A la carte menu means

(A) A setmenu without any alternatives
or beverages

(B) A carte du jour menu inclusive of
coffee and service charge

(C) A menu with extensive choice of
dishes cooked to order

(D) A prix-fixe menu with several
choices on each course

Which line is comprised only of
Sherries ?

(A) Tarragona, montilla, bual, ratafia,
campari

(B) Muscatel, alto douro, sercial,
mead, schnapps

(C) Malmsey, marsala, malaga,

madeira, verdelho

Fino, mauzavilla, amontillado

(D)
‘Grog'’ is the term applied to
(A) Yeast
(B) Rum and water
(C) Dark rum
(D) White rum

Decide which group consists of natural
mineral waters only
(A)

Tonic water, Cola, Soda water
siphon, Bath Spa

Perrier, Malvern water, Apollinaris,
Buxton

Chartreuse, ginger ale, citronelle,
bitter lemon

(B)

(€)

(D)

Grenadine, cordial, cona, perry

164.

165.

166.

167.

1 O OO 0O O

Decaffeinated coffee may be defined as

(A) Strong because it contains
chicory

Flavoured with figs in the Turkish
style

Continental high roast made in a
Cona machine

Having the stimulant caffeine
removed

(B)

©)
(D)

Under which circumstances should a
waiter write an ‘en place’ check ?

(A) When a customer changes his mind
and asks for something else

To obtain the customer’s coat from
the cloakroom

If a customer asks for a double
brandy with his coffee

If a customer finds he cannot afford
the prices

(B)
(©)

(D)

When significant variations from planned
results occur, food service managers
must

(A) determine the cause, identify

the problem, and take corrective
action

take corrective action, determine the
cause, and identify the problem
identify the problem, take corrective
action, and determine the cause

identify the problem, determine the
cause, and take corrective action

(B)
(©)
(D)

An operation’s expenses are the
(A) number of guests it serves

(B) sales dollars generated by the
business

dollars that remain after all costs
have been paid

costs of the items required to
operate the business

(C)

(D)
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168.

169.

170.

171.

72
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Complete the formula:
Revenue — Desired Profit =

(A) Food Cost

(B) Cost of Sales
(C) Ideal Expense
(D) Other Expense

What are a food service operation’s
revenues ?

(A) The sales dollars it achieves
(B) The amount of profit it achieves

(C) The cost of the items required to
operate the business
(D) The dollars that remain after all

expenses have been paid

In what cost category do managers
record non-alcoholic beverages
expenses ?

(A) Revenue

(B) Food cost

(C) Beverage cost

(D) Other expenses

Which alcoholic beverage product is

made from grain and is flavored with
hops ?

(A) Beer
(C) Liquor

(B) Wine
(D) Spirit
What is the tool managers use to
conduct comparison shopping ?
(A) Bid sheet

(B) Credit memo

(C) Standardized recipe

(D) Product specification

173.

174.

175.

176.

177.

Cherry pickers are operators who
(A) buy from only one vendor

(B) are committed to source
reduction

grow their own fruits and
vegetables

purchase only vendor items that
are on sale

(©)

(D)

A bottled wine’s vintner indicates the

(A) year in which the wine was
produced

(B) amount of alcohol in the wine

(C) type of grape used to produce the
wine

name and location of the wine's
producer

(D)

Which type of alcoholic beverage would
normally be labeled with a pull date ?

(A) Beer (B) Wine

(C) Spirit (D) Liqueur
Which staff members should receive
copies of purchase orders ?

(A) Servers

(B) Receiving clerks

(C) Production workers

(D) Marketing staff

A food or beverage product delivery is
said to be “short” when

(A) the delivery was late

(B) more items than ordered were
delivered

fewer items than ordered were
delivered

the vendor does not provide a
delivery invoice

(©)

(D)
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178.

179.

180.

181.

182.

A credit memo is a tool managers use to
(A)
(B)
(€)
(D)

file vendor invoices

place additional food orders
modify product specifications
correct inaccurate delivery
invoice

What is the formula used to calculate a
food service operation’s profits ?

(A)
(B)
(©)

Revenue — Expense = Profits
Revenue + Expenses = Profits

Sales + Food cost — Labor cost =
Profits

Sales + Food cost + Labor cost =
Profits

(D)

What is the formula used to calculate a food
service operation’s Total Expense % ?
(A) Labor Cost / Revenue = Total
Expense %

(B) Total Expense / Profit = Total
Expense %

(C) Total Expense / Revenue = Total
Expense %

(D) Total Expense / Other Expenses =

Total Expense %
Scotch malt whiskey is made from
(A) Barley (B) Rye
(C) Wheat (D) Corn
Scotch whiskey is aged for a minimum
period of
(A) 1year
(C) 3years

(B) 2years
(D) 4 years

183.

184.

185.

186.

187.

188.

189.

0 00O

Peat fire is used in the preparation of
(A) lIrish whiskey

(B) Canadian whiskey

(C) Bourbon whiskey

(D) Scotch whiskey

Blended scotch whisky is the blend of
(A) Irish and Scotch

(B) Scotch malt and Scotch grain
(C) Scotch malt and Bourbon

(D) Scotch grain and Irish malt

Irish whiskey is pot distilled

(A) Twice (B) Thrice

(C) Fourtimes (D) Five times
Irish whiskey is aged for a minimum
period of
(A) 2years
(C) 4 years

(B) 3years

(D) 5 years
Bourbon whiskey is made from mash
consisting of maize corn at least

(A) 31% (B) 41%

(C) 51% (D) 61%

Pink gin is best made with
(A) Plymouth gin

(B) Sole gin

(C) Holland gin

(D) London dry gin

The analyzer and rectifier are
(A) whisky blenders

(B) parts of the pot still

(C) employees at the distillery
(D) parts of the patent still
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190.

191.

192.

193.

194.

Fortified wines are those to which has
been added

(A) Brandy
(B) Vitamins
(C) Sulphur
(D) Sugar

The spirit safe is where

(A) the distiller keeps his valuable
equipment

the oldest bottles of liqueur
brandy are kept

the final blending of spirits takes
place

heads and tails are separated and
testing taking place

(B)
(©)

(D)

Pot still spirits differ from those produced
in a patent still as follows

(A) they contain more impurities
(B) they contain fewer impurities

(C) they do not need to be matured for
two years

(D) they are much higher in alcohol
when distilled

Gin originated in the

(A) England

(B) Holland

(C) USA

(D) Canada

The most common botanical used in

flavoring of gin is

(A) coriander

(B) fennel seeds

(C) juniper

(D) bay leaves

195.

196.

197

198.

199,

200.

Y000 0

Grande Champagne is a region
of France which is famous for the
production of

(A) Calvados
(B) Cognac
(C) Champagne
(D) Claret

What is fromage ?
(A) sorbet

(B) pasta

(C) cheese

(D) fish

Which of the following is the lounge
waiter ?

(A) Chef de Salle
(B) Chef d'etage
(C) Chef de Wagon
(D) Sommelier

What are Tisanes ?

(A) Chocolate

(B) Herbal and fruit flavored tea
(C) Type of Coffee

(D) Nourishing Beverage
Which of the following is added in
Calypso Coffee ?

(A) Benedictine

(B) Tia Maria

(C) Scotch Whisky

(D) Cointreau

What is the flavor of orgeat syrup ?
(A) Almond

(B) Pomegranate

(C) Cherry

(D) Banana
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This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question orcompletes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method (| Wrong Method || Wrong Method [|Correct Method

O®00|0800CI0O@®@O00IC®O00

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must beindicated
in the Answer Sheet only.
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Go through instructions given in Page No. 1 (Facing Page)




